F£190 EBLUERERAR—Y:-LHIL—I3%
FERAT—AKE

1. % = BLUET—XHE
2. #4 =S| TH22FE5H8298 (1) . FHESA30B(H) BAta=t 9:00 | s0mLltE | B 1 1
3. & 5 : o BWW ABEAR—YLAET=Ra—F (BAYAIZ) 40mA% B 1 Z 1
4. SIMABEER 301t 8 1 1
5.8 & & % : Ta—beyrO1tyhTyF(4—4E84TL-EITR) TRE 8 1 Z 1
6.2 N B K& : BERSEM. 2EARTZREFE (KK ER. £2AERTSL (K
BFLLTHBLEEZRS
[ 38)—5 ]
a b c d
" —g s
ATOvY KRI5T F—LusSLt1A EL1AV.N YTCGC B Iz
a 0-3 2-1 2-1
50 ( 3-®& 50 ( @-1 ) 50 ( @0 ) " .
KRHOST 40 ( 0-@ 40 ( 2-@ ) 40 ( 46 ) 2 1R 2
30 ( 4B 30 ( @2 ) 30 (@2 )
b 3-0 3-0 2-1
50 ( ®-3 ) 5 ( @-0 ) 5 ( @-1 ) "
F—Ls\)btA40O | 40 ( @0 ) 40 ( @0) 40 (46 ) 3H oK !
30 (. 6G4) 30 (@1) 30 (@1 )
c 1-2 0-3 1-2
5 ( 1-@ ) 50 ( 0-@ 50 ( 4® ) 5
[Eit31AY:2) 0 ( @2) 40 ( 0-@ 40 ( @0) OB 3R 4
30 ( 2-@ ) 30 ( 1-@ 30 (2-@ )
d 1-2 1-2 2-1
50 ( 0-@ ) 50 ( 1-@ 50 ( ®-4 )
YTcC 0 (&4 ) | 40 ( G4 0 ( 0-@ ) TH 2K 3
30 (2-@ ) 30 ( 1-@ 30 (@2 )
e f g h
" —g s
BIAY7 vRA—R HLAIE h5— UbH—7 B IRt
e 1-2 1-2 3-0
50 ( @-2 5 ( 2-@ ) 5 ( @1 ) "
TRE—X 0 ( 2-@ 40 ( 2-@ ) 40 ( @0 ) TH 2K 3
30 (0-@ 30 (@1 ) 30 (@0 )
f 2-1 2-1 3-0
50 ( 2-@ ) 5 ( 2-@ ) 5 ( @-0 ) "
KLAIFE 40 ( @2 ) 40 ( @0 ) 40 ( @0 ) 3B 0K 1
30 ( @0 ) 30 (@0 ) 30 ( @0 )
g 2-1 1-2 3-0
50 ( @-2 ) 50 ( @-2 5 ( @1 ) " .
Hho— 0 ( @2 ) 40 ( 0-@ 0 ( @2 ) 281K 2
30 (1-@ ) 30 ( 0-@ 30 (@0 )
h 0-3 0-3 0-3
50 ( 1-@ ) 50 ( 0-@ 5 ( 1-@ ) " .
UH—7 0 ( 0-@ ) 40 ( 0-@ 0 ( 2-@ ) O 3K 4
30 (0-@ ) 30 ( 0-@ 30 (0-@ )
i j k I
N % g B
c7nvy H$I5)—> FEa1—50 BINGY—> HFAEWNTERE - IRz
i 2-1 2-1 3-0
50 ( 2-@ 50 ( 0-@ ) 50 ( @0 ) 8
HI5)—> 0 ( @2 0 ( @1 ) 40 ( &4 ) 3B 0K 1
30 (@2 30 (@0 ) 30 (@2 )
R 1-2 2-1 2-1
50 ( @-2 ) 50 ( @-1 ) 50 ( @-1 )
TEa21—50 40 ( 2-@ ) 0 ( 2-@ ) 40 ( &4 ) 2B 1K 2
30 (2-@ ) 30 (@1 ) 30 ( 1-@ )
k 1-2 1-2 2-1
5 ( @0 ) 50 ( 1-@ 5 ( @1 ) 5
BIGY—2 | 40 (1-@ ) | 40 ( @2 0 (@2 | 'H2E 8
30 ( 0-@ ) 30 ( 1-@ 30 (0-@ )
[ 0-3 1-2 1-2
50 ( 0-@ ) 50 ( 1-@ 50 ( 1-@ ) g
BAFWNTER | 490 ( 4G ) 40 ( 46 40 ( 2-@ ) O 3 X 4
30 (2-@ ) 30 ( @1 30 ( @0 )




m n () p
" #*__ B &
1-2 0-3
50 1-@ 50 ( 1-@ ) 50
XY 40 0-@ 0 ( 0-@ ) 40 O 3 M, 4
30 @-0 30 (3G ) 30
2-1 1-2
50 ( @-1 5 ( @1 ) 50
Ahdply 40 ( @0 0 (2@ ) | 0 1TH 2K 3
30 ( 0-® 30 ( 1-@ ) 30
3-0 2-1
50 ( @-1 50 1-@ 50
+rHEAESTC | 40 ( @0 40 @-2 10 3B 0 1
30 ( &3 30 @-1 30
2-1 2-1 1-2
50 ( @-0 50 @-1 50 ( @2 )
BnH 0 ( 2-@ 40 @-2 0 (36 ) 28 1M 2
30 (@2 30 2-@ 30 ( 2-@ )
q r s t
" #*__ B &
Ejl:' V7 Beer's (RY-9-X¢ I IR—LALTC =R IRA:r
3-0 3-0
50 @-0 5 ( ®3 ) 50
Beer’s 40 @-2 0 ( @1 ) 10 2B 08K 1
30 @-2 30 (@2 ) 30
0-3 0-3
5 ( 0-® 50 ( 0-@ ) 50
WH5E< 0 (2@ 0 (0@ ) | 40 oM 2K 3
30 ( 2-® 30 ( 3G ) 30
0-3 3-0
50 ( 3-® 50 @-0 50
SWR—ALTC | 40 ( 1-@ 0 ( @0 40 1TH 1K 2
30 (2@ 30 ®-3 30
50 ( 50 50 )
40 ( 40 40 ( ) B K
30 ( 30 30 ( )
u v w X
» % _ g ‘J_
FaRyy BIEESTC X RS—R I REEK B IR
0-3 1-2
50 0-@ 50 ( 0-@ ) 50
HlELS5TC 40 3-® 0 ( @2 ) 40 O 2 M 3
30 1-@ 30 (1-@ ) 30
3-0 2-1
50 ( @0 50 ( &3 ) 50
YRE—XTEM | 40 ( B3 0 (@1 ) | 40 2 % 0 1
30 ( @1 30 (1-® ) 30
2-1 1-2
50 ( @0 50 3-G 50
REpAK 0 ( 2-@ 0 (1-@ w0 1TH 1K 2
30 ( @1 30 @-1 30
50 ( 50 50 ( )
40 ( 40 40 ( ) B B
30 ¢ 30 30 ( )




| PRULICEDRBI—TAUr |

1

F-LN' 40

RB—F AL ]

F—LLtE1A

1

(AN

ETTEAZETC wrorrrmmreerrrneeeeny s ( O
« @1 )
KLAIF 40 ( @1 )
HKLAIE 21 Lo EE
50 ( @-1 ) — IR
0 ( @2 ) F—Ls/NLt/0O
30 ( 2-@ )
, 3-0
Beer's = ey
R 50 ( @-1 )
TRE—XTEH 20 ( @0 )
2t B o @2 )
YR-A'TERE 50 -
( @2 ) 2
0 ( @0 ) TRE—XTEH
30 ( 3G ) -
'U'77 IJ_\/ 50 ( @_0 )
0 ( @2 )
30 ( 2-@ )
3RLRTEER
PR KLAIX
e — 0 ( Gu
40 ( @1
SHRTR . 1-@
EHEARTC
EHEAERTC
) 2-1
Beer's 50 ( @2 )
0 ( @1 )
30 ( 1-@ )
FRE2UIICEDRBEN—FT AV
24K kEHS5T
kEH5T o 0 ( @3 )
KRIST 40 ( @0 )
30 ( @0 )
BOF e 0 ( oY
( @2 ) B H5T
40 ( 8—2 ) KR957
30 ( @1 )
FEA=50 ey . 0 ( B2 )
L IR — L 40 ( @0 )
30 ( @2 )
ﬁlJ.ll“—ATC 50 ( (%__14 ) o .
0 ( @1 ) LHIF—4
30 ( 46 )
= 3-0
h5— 50 ( @1 )
40 ( @0 )
30 ( @1 )
O RSB
REPBK oy P
— 2-1
h7— 50 ( @2 )
40 ( 2-@ )
ELRTER 0 ¢ @1 )
TDFHFE
FEa1—50
'T"E':L—SO 50 ( 2_<5



FRMLICKDRBF—F AP

1 SEINT)—y

AhHpy
2_
2 AShndHly . 50 ( @1 )
Shbi 0 ( 1-@ )
30 ( @0 )
_____________________________ (3)-0 )
= 2-0
3 BlEESTC 0t @ )
30 ( @1 ) Y TG
21
4 YTC 5 ( 4-® )
Y C 0 ( @1 )
30 ( B©-4 )
N 3-0
5 L\B‘6< """""""""""""""" 50 ( @_0 )
0 ( @0 ) vTe
30 ( @2 ) -
6 YAI-Z 50 ( 0-@ )
0 ( @1 )
30 ( @2 )
15 REE;
;’rﬂ.| 1) [
gz )= R
. 2-1
YA3-2 50 ( @2 )
40 ( 2-@ )
30 ( @0 )
17T R EE;
3 5TC
BlEES Bla&STC
. 21
[ 5 ( 1-@ )
0 ( @2 )
30 ( @2 )
TRBAGLICKDRBEN—F A+
1 U= BAENTER
3-0
2 BYE 50 ( @1 )
40 ( 4-2 )
30 ( @2 )
3 BAFWNTER EFe Bl
2-1
4 DO 50 ( 0-@ )
0 ( @2 )
30 ( &4 )
° BYE =50 vh
3-0
6 [Ef=HLvh 5 ( @1 )
0 ( @1 )
21 KRB ¢ @2 )
UH—79 ey ADE
2-1
RO 50 ( @2 )
0 ( 46 )
30 ( @2 )
234I R TE B
50 ( )
"""""""""""""""" 40 ( )
30 ( )



)

)

il

il

L5 B,

(W) (W)
Fehii % KBNS
S| B | mawm S| B | ek
Bl x| msas Bl & | z#oca
& ble| mIm & Sl B | mmRE
Bl e | ez 2l x| wass
S| B | sAmm S| B | skEms
B & | exmzz B x| mxar
% 5 % g | HEAL

# #

8 % 8 x| BT

Beer'S TRE—R

G G
INHIET R
Sl B | tema Sl B | W oEm
2l x| sxeazr 2l x| mrazz
& Yl e | mmEe & fle| Arm
B & | maxmer 1 % | wnes?
S| B | mmmE 0| B | e
& | aET x| msor

2 E
% %




Z mE &

TRA—ZTEH Sl
(L) (L)
BAHER = RES
S| o= A S| o= il
Bl x| eszx 2l x| mexz
# Sle | e = ‘o = RES
Tl x| @ n7 Bl x| mmss
0| o= AR 0| o= s 2
2l x| ammz % % | pesnz
3% 5 L PS 3 5
T T
g % INSEF= 2 8 %
BlEES Ff=2L 0
(5811 GBI
J\iEH= B
S| o= KB R S| B | mamssx
x| mire Bl x| #a=ae
# I EEHH% # I R
Bl x| mkmz % % | mBomzz
> | B | =anmE S|l B | EmE
2l 2| nmaz 2l 2| mesz
3% S 3% 5
f f
= £y B =




Z mE &

)

)

‘o

il

B84k SIR—ATC
(B (SZILIET)
AR || E
S| o= &) EA S| B | mEAm
Bl x| &=z x| amusz
# I HARE # I chikEk th
B % | mxEwm? Bl x| whmz
0| o= FEE 0| o= 5% )1| I
Bl o2 | mAsz Bl x| mams
3 5 | mmEs 3% 3
f f
8 % | piEAEmE 8 #
EHEARTC F—L/NLtq0O
(LTHED) (FHEAD)
HNEST B HHEARD
S| o= mH A S| B | moEAm
B % | mEney B x| zerss
# I IR — 2 ‘o SEH—
% % | mammEzz x| mant
0| o= LB 0| o= ERLE
B & | mnmamr B % | mummr
2 | mEIE 3
# #




Z mE &

YTC Lz BNT)—2
?_
(B L/ \ ) S
RiEY % B BAEE
S| o= EL3 N I WTE— &
Bl x| e 2 | B | & | mmmr
& Yl B | EWRS Bla | 8] 8| nRES
2 x| sms= = | ¢ | B 2| sErs
0| B | mmEz 5 | o | B | mAuE
& | wmsr s | B x| mans
5 2 | 7 2
K K
=] o8 =] 8 &
$ITY— UH—7
F—L%
(BN ()
eSS % B M=Fr=
S B | mEmE N I e E—
Bl x| maesx 2 | Bl x| mees
& Yl s | mnme Bl s | 4| 8| #mmse
2l 2| zmwz = | o | B 5| emmer
S| B | ue e 5 | o | B | |k
Bl | wmme s | Bl = | nopz
3 2 £ | 7 B | o=
K K
8 % g8 | s % | miE?




